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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.
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The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5. R qRdeR A fod 9T R w3l MU A\ v wAE o |
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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11.

12,
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14.

15.

I AR Seor gaer @ wRiE & v R S % §, s ool s aeerd/geeer R §ea
At FaYuET sl ST ATl e Sfaiad ATAR e wer &g i sl

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

magﬁam%aﬂ#aﬁaﬁ#wgﬁamagﬁamm(NslcmlE)aﬂaﬁmmmaﬁa#ﬁ‘#
I T W oEr & afgel

Question Booklet Code {A/B/C/D/E) printed on the top right corner shouid be written in the space
provided in OMR Answer Sheet.

Ud® WA 1 3% F §, 3o 7 & W 4F 3HF AR Tad seor F AU 0.33 Honens 3w BRl wRe

F1 vF ¥ 30T 3caT ITdd 3ea] H=ET SCIT|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

TR B F X FFOeR, RS W, TAIE a9, §38e, Hel qRh, AgeIvTh i, HE TS
A I FE 3T SoEEEE doE & T r angAfa gl 9y e 9w o o 3 alen &
# el 787 & el 3R W IEIR T Hewina Ag B S 3R W 3FAeEart & e
3RE el S el FEET FNAS YE HT el $H 6 F gAY deEne W 9 d & TR
f&ll =1 Fedt O e fhar sier =gl

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.

WA 9T F 3UEeY TS & YT 6 Y F AU R S wsdar gl

Space available in the Question Booklet can be used for rough work.

Tiie WS g W, 3 U #R 3o ofi #Y suw RE wv B et § ol st gw o o e Iwr
e foadlers # gug #¢ § Tur gudr geehde vt st s o @ o) S oA AR e wied 'R
e WU avae @iyl

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given white tearing the OMR Sheet.

IR T BT A g9 & 16 Fad A gl B #7 3EHf

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
qdaTr & g, IFAEERT F 3 T AR IR Iieas A gRamiRa yaer o odder A dig & e
forr sl o waer o9 odders @ Ag diar ¥, 3 3 O 3R o W AR & fo faEr sl
RRaT STee| W3 U e R srwerar & adanTe @ digey i FFAGHT el @ g

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be

considered for evaluation. Responsibility rests with the candidate fo hand over the admit card to the
invigilator without fail.

3RS 3PS WERLOT F WAl @ §T WIAIOIE Hie Sedr, gy 3FAeart fr giawr & fov feedr 7 o
w few v gl

The questions in English version alone will be taken as authentic though guestions are given in Hindi also for
the convenience of the candidates.
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desifaae | (Storel Awfas) / TECHNICIAN — ‘B’ (DIESEL MECHANIC)

T & O fh F aed 30w gfRiesar B 2
Which of the following has the highest electrical resistivity?
(a) F/ Steel (®) 4T/ Gold

(¢) eI/ Silver (d) =T/ Copper

YT & TF WP AT W & Qv gg HrAeh Sedr amar ad ¥

Key that has curvature to match the shaft on one side is

() g% &1 / Woodruff key (b) eI FT/ Feather key
(© @lar dsa T/ Hollow saddle key (@ TF &/ Sunkkey

98 gied o e oy F 310w o & gren giafed e §
Device that ensures safety against over pressure in a pneumatic circuit
(a) ¥|UEH/ Compressor ) Rl died / Relief valve

(¢) Wad® / Actuator : (d) fFeeT/Filter

feest &1 AT SwE dER (3FR) & 91 g8 &9 Foglw dar &

The section of piston that has least clearance with liner

(a) THE/ Skirt (®) w3 / Crown

(¢) o3 /Land @ Rer e/ Ring section

SIS 5 $U GO U9 H, ————— & T BT ITART AR Sore GHT AR
R e

In diesel engine fuel injection pump, injection timing is adjusted using rotation of

(a) ST /Barrel (b) TS / Plunger

©) Sue Hthﬁ dled / Fuel delivery valve (d)  &9e/ Tappet

SCR # vy ol o 59 § ——————|

Diesel Exhaust Fluid used in SCR is

(a) 32.5% JRAT IR 67.5% FAATAT I / 32.5% urea and 67.5% de-ionized water
by 67.5% q\ﬁ?ﬂ I 82.5% IATAT ST /67.5% urea and 32.5% de-ionized water
(¢} 50% q\ﬁ?ﬂ 3 50% IAETAT ST / 50% urea and 50% de-ionized water

(@) 10% IRaT 3R 90% IATAT ST / 10% urea and 90% de-ionized water
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10.

11.

U AT e Rev &1 yfdwer giar §
A worn-out piston ring could result in

(@) BT ¥ T / Noise from engine
(b) T U 3YHT/ Increased fuel consumption
(¢ af8a de 3T/ Increased oil consumption
(d) 3q'{i:a?r AT/ All of the above

”

T 4-3¥gi o1t 7 AT ———— & &l of7 9% dex & et 33 dex &7 3w oy
FT 8l

In a 4 stroke engine the piston moves from Top dead ce‘ntre to Bd;t%“bm dead centre during
(a) TR i U9 WIS TEF / Suction stroke and Compression stroke

() TIET TP d RAFE e/ Compression stroke and Exhaust stroke

(c) Tema T ¢g uraR ¥ie / Exhaust stroke and Power stroke

(d) WP T U9 Al FEiF / Suction stroke and Power stroke

FTOIT WS Sdel-UR S0 atel 3ol 7 ofa1g oo =olal &, Fgendr &
The spiral groove which run the length of drill that forms the cutting edges is called

(a) &1/ Tang (b)  WegT/Flute
(&) 8=/ Web (@ #AfST/ Margin

60 m/s & FIN { TCHAAIA 1§ ATEeT Neh I § I AT 8 sec H TF anar ¥ qir I F
v @9d H#s9 A W, 98 o FeeT hadr §

A vehicle moving with a velocity of 60 m/s applies brake and comes to rest in 8 sec. Assuming
a constant deceleration for the entire duration, what is the deceleration of the vehicle?

@ 9m/s (b) 15 m/s?

(¢ 7.5 m/s? (d) 5m/s?
golferafar 3m@or 7 gfEen gae W@ (— - — - — ) &1 gaidr §7

In engineering drawing what does Chain thin lines (— - — - — )} represent?

(a) ¥ HI3CeT3T / Visible outline (b) 1883 3n3eanss / Hidden outline
(¢) WX @3+ / Centre line (d) ITIH ¥M3<T / Dimension line
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12.

13.

14.

15.

16.

AT 95 HT FeA & A0 et § F et g A€ T o g
Which among the following cannot be used to cut a new thread?
(a) 3% #&/Die nut -

(b) EFF T/ Half die
() WHANIST B AT 515/ Adjustable screw plate die
(d) ¥csT 815/ Button die

SCmUazﬁcmﬁﬁimﬁaTﬁmﬂTﬁﬁﬁﬁfm%

Hypotenuse of a right angled triangle with sides 8 cm and 6 cm is

(@ 48 ® iz
© 10 @ 5 ’ @
e & @ wlear ea 22

Which among the following is False?

(a) S &E Wigel I Fe BIFT T 36T HF AT v IBR INSHA Tg aren g &/
Double cut file is faster and have superior surface finish than single cut file

(®) T &e wee # 60 33 <% gfg 1 &/ Single cut file have teeth at 60 degrees

(c) TF FE WISH H TG Fg AT Frell &/ Curved cut files have deeper cutting action

(@) T & wiger @ heT ST gerit & fow e Smar €/ Single cut files are used for

soft materials

frdr Agshier &1 aF R#e H ufa goia & fow 0.5 A gwar § 3R Riwa w50 s
g sudr wad wH qUET AT §?

Spindle of a micrometer moves 0.5 mm for each rotation of thimble and there are 50 divisions
on the thimble. What is its least count?

(&) 0.1 /mm ®  0.01TAH / mm
(© 0.05 B /mm (@ 2.5 /mm

T # O SlF-9r YeTeT JIeaoT YRR @ Usdee dav 87
Which of the following is a direct injection type combustion chamber?

(a) TTA e/ Swirl chamber

(b) %W—qﬁ a3 / Precombustion chamber

(0 I Hel A/ Air cell chamber

(d) Yol Yedolel =fa¥ / Open combustion chamber
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17.

18.

19.

20.

21.

H Foie TR §oiel W & 715 T agAsH # 35 e &
The heat taken from the engine by the coolant is dissipated to the atmosphere in

-

(a) e/ Radiator (b)  9FF /Pump
(¢) AAFEE / Thermostat (@ A% areqd/ Relief valve

98T &1 TPMS @a aar &
TPMS of the vehicle indicates

(a) arsurelr FEAfT / Throttle position

() & dTe H AIHAA U I/ Temperature and pressure of brake fluid

(¢) TEH & JYA T gE/ Temperature and pressure of lul?ﬁicant

(d) <M @/ Tire pressure

UFeet a0 ————— & s gl &

Piston rings are made of

(@) oo/l &BT/ Cast iron (b)  ABHH/ Nichrome
(¢) AW/ Monel (@) =Er/ Silver

gl TOTEll T Y&R S del 9FT &1 YAV 4T Flell &

Type of lubrication system that does not use an oil pump
(a) UEre-dd T8 / Petrol-oil lubrication

() Y*F FI TgT / Dry Sump lubrication

(c) T&=w@ Tigd/ Splash lubrication

(@ (2) 3R (¢} 2T/ Both (a) and (¢)

TEMATER —————— E@RT T[T ST B
The turbocharger is driven by

(2) B'STET / Engine
(b) wearafda / Alternator

(© 'q:\ﬁi'&" EaIT Falfoid €alse / Turbine run by coolant
() Ty 39 ganr Faifod eaise / Turbine run by exhaust gas
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22.

23.

24,

25.

26.

27.

9% Hdgad Sl {9 I THaAaT 3c0 ol 8, o9 &9 ST e &

Sensor that generates potential difference across it when pressure is applied

(a) Mrisefrcs T3eH / Piezoelectric sensor
(b) ¥HREET / Thermistor

(¢) BT WG Hace / Hall effect sensor
(d) d¥TATYT/ Potentiometer

IO Fcolal HAGTT WOTell Hifeteey ————— o & JANT &7 &
Evaporation emission control system canister uses

(a) WFPRIT TGRS/ Activated charcoal (b))  wdfesd / Platinum

© QRTA/ Cerium @ 2=u%/DEF.

e # Reea Nor @@ @i & 99 BFaeid ——————— &7 9997 7 AT S0 §
Clearance between the piston ring and groove in the piston is measured using

(a) alaaY HfAIR/ Vernier caliper (b) PR YA/ Feeler gauge

{¢) HAZHHRI/ Micrometer (d) S™F HgTE / Dial indicator

@AFT 7 ¥ &g 3R Jdg & §9 F g9 foear sar g2

Which of the following is used as datum surface?

(8) ¥dg velc / Surface plate () HAIR/ Caliper

(¢) & Fel/ Steel Rule (d) ®GH/Punch

TREY ST F cosine F HH ———— & &7 H IRA™T fFr Far ¢
Reciprocal of cosine of an angle is defined as

() e/ Tangent by THT/Secant

(c) A%e / Cosecant (d) IEsie / Cotangent

forelr AgeRElieR & et o wlear qoft v W AfaRed SR F 3auheT S AFar §?

Which of the following part of a micrometer prevents the application of excess load on the
workpiece?

(a) et/ Thimble , b e TY /Rachet stop
(¢) T% /Spindle (@ FEs/ Anvil
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28.

28.

30.

31.

32.

33.

P GHIT & FAT TUREAROT HT ATCTH i Haedenar 7ar usdr 87

Which mode of heat transfer does not require a medium?

»

(a) =rele / Conduction (b) HagT / Convection

(¢) TafeRoT/ Radiation (@  (b) 3 (c) =T/ Both (b) and (c)
50 & 80% §

80 percentage of 50 is

(a) 40 (b) 45

{c) 30 (d 20

T ot AR St ) A S aRafi e

Device that converts pneumatic/hydraulic energy to mechanical energy

(a) TFF9T g1ed / Control valve (®) 99/ Pump
(© Welw area / Relief valve (d) vad® / Actuator
3T TF H, —————— W AT FAS BT B

In otto cycle, heat addition is at

(a) TI9 €@/ Constant Pressure

(b) TIT 3G/ Constant Volume

(¢ Toaa agA= / Constant Temperature

(@ HfA®w v ¥ PAI9a o9 v Hfdw wv ¥ Pug 3mwaT W)/ Partially at constant
pressure and partially at constant volume

T S WO F ot A S v Rt e §

The device that is used to connect and disconnect the engine from the transmission is
(a) HIMFC / Crankshaft (b)  Wemgcerel / Flywheel

(¢) o™ [/ Clutch (d) TISH Us / Connecting rod

TFT 7 ¥ Sl9-a7 Yacdd R 9F T &7

Which among the following is a positive displacement pump?
(a) 9 9FT/ Vane pump (b) B 9FT/ Screw pump
(@ 9 959 / Gear pump (d) B'Q'?:’l,a—‘cr GHT / All of the above
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34.

35.

36.

317.

o5 s Fed & A & THAT et gar

Nominal voltage of a cell of lead acid battery is

(&) 2.2V . (b) 1.3V

© 35V (d 12V

Pl-AT FE FIA-XET-aol Faliorer &2

Which is the correct Fuse rating - colour combination?

() 3Amp- T /Tan (b) 30 Amp — %3 / White

(¢) 10 Amp - & / Red (d) 20 Amp - g1 I8 / Light Green
aﬁﬂmmﬁmﬁmﬁa@mwﬁ%m%m#gﬁ@mﬁ{

Arrange the following in the order from poor to best surface finish obtained.
Second cut file, Bastard file, Dead Smooth file, Smooth file

(2)

(®)

©

(D

dhs HT WS, IRCS BEd, 5T Y W5, THY WIS / Second cut file, Bastard file,
Dead smooth file, Smooth file

35 THY WIEH, TY WEW, dh3 F¢ GEd, TRES Bed / Dead smooth file, Smooth file,
Second cut file, Bastard file

IRTE WA, Yhs HE B, THY WISH, 55 THY WIS / Bastard file, Second Cut file,
Smooth file, Dead smooth file

AT WIF, HhS KT IS, 35 THY IS, THY WIS / Bastard file, Second Cut file,
Dead smooth file, Smooth file

& ®UET W AR W ud 98 Reew &1 aws Y
Consider the two statements and choose the correct option.

&Y [ Statement 1 mﬁmmﬁa@nﬁmﬁa%ﬁaﬁ#mﬁaw

TF & & / When two resistors are connected in series, current
through both are same

HUT [/ Statement 2 : mﬁqﬁﬂwwqﬁ%mmmm%/%en

(a)
(b)
©
(d

two resistors are connected in parallel the effective resistance
Increases

FUT 1 TET &, T 2 6 # / Statement 1 is True, Statement 2 is False
HYT 1 AT &, PAT 2 FET & / Statement 1 is False, Statement 2 is True
gl ®UT TEY & / Both statements are True

alAr FUT ol & / Both statements are False

9 759-TN(DM)



38.

39.

40.

41.

Tt 7 | Trasr 93 fRer a1 @ear § 3T dtee o AT 93 Wl fHar Smer §7
Which of the following can be used when the end thread of bolt has to be protected?

(a) 3 FY 7/ Dome cap nut ) )  Aew-didd ¢ / Self-locking nut

(©

AT o€ / Locking nut ( &7 7€ / Wing nub

T & UHs & AT rawr AT 787 Bhar siar &7
Which of the following is not used for holding workpiece?

(@) T-Fd9/U clamp (b) UB aEH/ Pin Vice
(e 3@% a15q / Engineers Vice (@ SRy / Caliper
e § @ BT o1 FUT 9l g7

Which of the following statement is True?

@

(b)

©

(D

m%%aﬁam%mmﬁﬁmm%mm

AHTAY % H HAMSdeilar & / Ammeter is connected in series with the circuit and
Voltmeter is connected in parallel for measurement

A & T e oRUy & oy gEeeR w9 & gaifog g@iar § st deedex

Aviiggy %A H AT giar § / Ammeter is connected in parallel with the circuit and
Voltmeter is connected in series for measurement

AT & QT 31ARY U8 diecH g Avlieey &3 H §alieid & € / Both Ammeter

and Voltmeter are connected in series with the circuit for measurement

A9A & v 3wy 9 dicediet &9 GAWEAR &5 § §a9isd 8§ 8 / Both Ammeter

and Voltmeter are connected in parallel with the circuit for measurement

oot & & Plaar arera &2
Which of the following is False?

(a)

(b)

()
(@

YTE-ARIT AC A (eadd Udher T [T Gl S-0eH TG [T S & / Nylon inserts

are provided in Self-locking nut to prevent loosening

TFeTH & IculeT H 3T AiFd & g, S T8 ®er g @i § / High strength

material like spring steel is used for manufacturing of circlips
AR oIS Uchs FI FH T %' / Washers reduce the frictional grip
M4-15-48 & 9 H ARG vehoim 0¥ dec 4 B & T s =99 &1

BIdT & / A hexagonal head bolt designated as M4-15-4.8 has a nominal major diameter
of 4 mm '
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42. ﬁm%ﬁ%ﬁtﬁs&ﬁﬁ%mﬁﬁmﬁﬁmmaﬁmmw

43.

44.

45.

46.

Which of the following cannot be used as a compression ring for a piston?

'S

(@ T welerd 5T/ T flex rings (b)  EIISS Sder RW/ Inside bevel rings
(©) e B¥s R / Taper faced rings (d) HRAT R3T/ Keystone rings

Why is crankease ventilation provided?

(a) AT I S&T F=T F AT/ To cool the crankshaft

(b) e & 3T FA & AT/ To cool the oil ' o5
(0) =AI-EIS & gl & TAT/ To remove the blow-by
(d) 3'q'€_ﬁnﬁ 7Y IS 18T/ None of the above

Fromse 4-RE §oie % AU weeT aget F R
Most common firing order for an inline 4-cylinder engine is

(a) 1-3-4-2 () 1-2-3-4
(¢} 1-2-4-3 (d 1-4.23

cafareiY Taie @ goiele —— & g $

Inlet to the turbocharger turbine is from

(@) 3cUTF URGdF / Catalytic converter () o [{3f3er/ Exhaust manifold
() HWeX / Muffler () a1 AMH/ Air cleaner

A dHE |, SAE 20, SAE 30, SAE 40 # ¥ &g g5t Qe T eerar waifdw g 22

At same temperature, among SAE 20, SAE 30, SAR 40, which engine oil has the highest

viscosity?
(a) SAE 20

(b) SAFE 30
(c) SAE 40

(d) T fr WA TART gl &/ All have same viscosity

11 759-TN(DM)



47.

48.

49.

50.

ol.

4-ETTF FoTe, dhererre HT gUTe AT gl §
In a 4-stroke engine the rotational speed of crankshaft is

(a) HAIMFE @T A F & / Equal to Camshaft speed
(b) TR Y ATY T AT / Twice the Camshaft speed
(c) ShaTTFE T I1TA T T/ Half of Camshaft speed

() AT H AT HT IRIEAT/ 4 Times Camshaft speed

0 B &7 WHER ——————— I TR T ¢
Tap drill size depends on
(8 98 % 4T/ Pitch of the thread

(b) 95 F 95 TG/ Major diameter of the thread
() 9% F 98 O ug = &1/ Both major diameter and pitch of thread
(d) B'Q'{igﬁ # & IS FET/ None of the above

et gag A GATEAT HY UZATH BT $ ToT AR & 9T Iueel A ¥ fnger waer e S
TEdr §?

Which of the below given instruments can be used to check the flatness of a surface?

(a) SR H{= / Dial indicator (b)  HASHIAEI / Micrometer
(¢) TR HIAUT/ Vernier caliper () BT FATYY/ Feeler gauge

%waﬁq\am’a‘?

What is the square root of ?—: ?

(@) 1.5 (b)
@ 3 @ 4

T B IO Soid e o e §, TS gee § 3R Yed ad demr q@r g, o 9y
SereT TRsoT ZaRT T e g

When a petrol engine vehicle is stationary with the engine running and no throttle
application, air fuel mixture is given by?

(@) 9EX 992/ Power circuit () g gRkuer/ Idle circuit
(¢) 3T A 99U/ High speed circuit  (d)  Udce IRUY/ Starting circuit

12 759-TN(DM)




52.

53.

54.

55.

56.

AT (o WeeT dasfoor ——— zgry goifag gar 8

Fuel injectors in Common Rail Direct Injection is operated by

”

(a) AU / Camshaft (b)  HIHIEEE / Solenoid
(¢) wauIferT &1/ Hydraulic pressure (d) 3‘1?51_’% H H FIT A87/ None of the above

o[F 3T TdeH A &
Lambda sensor measures

(a) T & 3FESH / Oxygen in the exhaust

(b) % & HC/HC in exhaust
() f@Fm® F NOx/ NOx in exhaust -
(d) STETaTsT/ Water vapour

st $& & offax g9 e @ A §

The pressure inside the fuel tank is maintained

(a) IIFHSET o ¥ AU/ More than atmospheric pressure

() a'l'{l_,?:lg'éﬁ’q &I & &4/ Less than atmospheric pressure

(0) dIgHSET &9 F SO / Equal to atmospheric pressure

(d) aqws'@'zr g 8§ ¥ow ar &7 g T&aT & / Can be either more than or less than

atmospheric pressure

Tl goisr A3 7 93 vd B BR A AsAaer WHe IS & T g gl
Rifle hole connecting big and small end in a connecting rod is for

(a) UFT ¢ / Improving strength (b)  Eue 9aEg / Fuel flow

(€) TEUAR weA1ToT / Mass reduction (d) &Ig=T/ Lubrication

Sig de R 7 e aRoy 7 aefede aeq Rwer & siar & ar

When thermostat valve in cooling circuit fails in the closed condition?

(a) ET AP T & Iar % / Engine overheats

(b) BT AWF Jar g Sar &/ Engine overcools

(¢ B F 3¥=an ;\ﬁ‘d‘ garigd g1aT &/ Maximum coolant flows through radiator
(@)  (b) 3K (o) ST/ Both (b) and (c)
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b7.

58.

89.

60.

61.

Fies T Ul & werrar et & AU g v & Ao & ameeh B gar 32
Which type of nozzle has an auxiliary hole to assist in cold starting situation?

(a) oA Ao/ Longstem nozzle () e A/ Delay nozzle

(¢) Tveled A9t/ Pintaux nozzle (d) ag-%a #lsTer / Multi hole nozzle
HEUI ——————— & 7 g1 &1
HEUI consists of

(@) F W g dF d ©d 3T9 ¥ $UA A9 / A low pressure oil chamber and a high
pressure fuel chamber

() UE fHAe g9 s deX Ud US 3= EF o ﬂa'{ { A low pressure fuel chamber and a
high pressure oil chamber

e

(c) U 3T g1F U9 fe g1 S AT/ A high pressure and a low pressure fuel chamber

(d) Uw BT g SUT U U T & O dat/ A low pressure fuel and a low pressure oil
chamber

EoTel JTATST & WG FE & fav 309 & 5 @eed vhet &1 yaeT frar snar §2
In which of these system speakers are used to generate signals to cancel engine sound?
(a) 3chA Ydg FHeR / Reverse flow muffler

(b) Sl 89/ Baffle type
(¢) ZelFgiieler AT / Electronic muffler
d e ¥ AWeR / Straight through muffler

wia-fgFsrasr Fsor & e @ sla-ar 78 @ar &2
Which of the following is not in antifreeze mixture?

(2) UATAT 7ans®ra / Ethylene glycol () FofaRe/ Glycerine
(© %%/ Ether ) &urger TsIge / Bthyl alcohol

Ao el fore faRer o verT e &1 o &
Advantage of providing bearing crush for shell bearing is :

(2) ToaRer & aifd #t IFar §/ Prevents movement of bearing
(b) FSAT FAIRYT &I §1T & / Improves heat transfer
© o g fawes & sl & @emar #ar €/ Helps to compensate for any

dimensional deviation

(d) 3‘11_533? HaY / All of the above
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62.

63.

64.

65.

goiT I AT B Aeher b FAC T g @ wmier fver sar §2
What device is used to hold the speed of the engine?

(a) TNEHET/ Speedometer ()  E&fareR / Turbocharger
(¢ Yf3wex/Radiator (d) @Y/ Governor
A 3 &1 g aREEROT ————— T FF e B

Exhaust gas recirculation helps to reduce

(a) HC 3" / emission

(b) CO 3cgsie / emission v
(¢) NOx 3cHel / emission
() (a) 3R () =/ Both (a) and (b)

T F & fasr afawer ITUAT $4eT SO @ FEar &2
Which of the following could result in higher fuel consumption?

(a) dred g4-3N3<¢ / Valve worn-out

(b) 9TelT dled FHIA / Incorrect valve timing
(¢ &rer &3 WA / Loose battery connections
@ (a) 3% (b) &=/ Both (2) and (b)

e F @ =1 ©igw ¥ dey # qwa 87

Which of the following regarding lubricant is false?

(a) ST a5 € T $gIar 81T a1fdv / It should have very low viscosity

(b) TJE mﬁmgﬁ*éﬁm I WA H FERAT HT & / It helps to minimise the

friction between moving parts

(c) TUHI 3TT FIYA ATGAN gl @IfdT/ It should have high boiling temperature

(@) wEreE #T aEn # U Hifae v e 7 ¥ Wl @9 =Y / Should be

physically and chemically stable in operating condition
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66. fFaT Soid X GO Y, S8 U9 greg & fav o5 vd ot wwer 12 wd 45 B3 § 3k

67.

68.

69.

70.

9T areg & ToT oig va ofer aer: 48 U9 10 Bl §1 sf@ca™a 3af™ Far &, sef waw od

Consider an engine where the lead and lag for the inlet valve is 12 and 45 degrees respectively
and the lead and lag for exhaust valve is 48 degrees and 10 degrees respectively. What is the
overlap period where both inlet and exhaust valves are open?

(a) 5539 / degrees
(b) 60727 / degrees
(¢) 22T / degrees
() 99 vg o deal Hr dfdeaita 3afr =88 §/ The inlet and exhaust valves do

not have overlap period

YA GIed @ BEAT S B F O §ud A gar &
The part of the inlet valve that is in contact with the seat

(a) ¥TCH/Stem , (b) dred %g/ Valve Face
(©) 9§ /Head (d) HHHATT/ Margin

&l & T, Faa R ) wdd g & Y wd w19 9ag @ @ & 919 0T FEnT §

For a chisel, the angle between the top of cutting point and normal to work surface at the
cutting edge is called

(a) TFe=NT #IOT/ Clearance angle (b) ﬁo_-ig %IUT / Point angle

() &fd #7/ Inclination angle (d) 3GAHT HI0T/ Rake angle

AN q FIFA-TT FAT BT AHH 76T 87

Which of these is not a unit of Energy?

(a) dic/ Watt () S/ Joule

(¢) eI/ Calorie (d) UATA/Nm

A 18 v e ————— & 9 gafaa g &

Connecting rod and piston are connected through

(a) BT @7/ Gudgeon pin (b) FHT §iee/ Cap bolts

(¢) afesa/ Welding (@) 39T # ¥ B AL/ None of the above
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71.

72.

73.

4.

5.

ST YUY S SR AT ¥

Bleeding of fuel system is

(@) HE gy T 3faReET Sus & B?;I?{T / Remove excess fuel from the feed circuit
(b) ™HE 9ROy d ag @I §CT=1T / Removing air from the feed circuit

(¢) s IRTYT ¥ Tt F gET/ Remo;ve water from the feed circuit

(@) 39dFd H § PIF =TT/ None of the above

fedly dRfr e &, 9l Iffe ——— & wafo g §
In a pneumatic governor the venturi unit is connected to

(a) SeAcH ATAWIes / Intake manifold

g

(b) T AfAwies / Exhaust manifold
(¢) ZUF 959/ Fuel pump
(d) 3uF d&/ Fuel tank

5 9t =91, 28 QAT dars OfRd vd 400 kg/m® Oelcd & UG A g9 UF ST & ZTAN

Mass of a cylinder with diameter 5 cm, length 28 cm and made of material with density
400 kg/m3 is

(8) 220 TF3T / ke (b)) 220 /g
(¢ 88uT/¢g (& 880 e / kg

SIS Sl & ToIT TRl v-IieT 3 aiiads & fFr o dar &7

Which can be used in a catalytic converter for diesel engines?
(a) TAfeHA / Platinum ®b) HAEIEE/ Palladium
() W|REIH/ Sodium @ (a) 3T (B) ST/ Both (a) and (b)

fopel Teper o1 MR 3mur X fear Smar § 3R FE e e feam Smar §, dr aEwer 8
ST &
The base of a triangle is halved and height is doubled, the area becomes

(@) 47T/ times (b) 1/4 9T / times
() 279 / times (d)  3R&fdd / Unchanged
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76.

71.

78.

79.

80.

B 7 8 RBrasr 3T afSas B s9= & Qe 738 G s 2
Which of the following is not used to make gudgeon pin?

-

(a) &oal oNgT/ Cast iron (b) GHEIT FET T/ Plain carbon steel
(c) Toomer ¥rer/ Nickel steel (d) #A-TAher T / Chrome-Nickel steel
T e FaeT § $oi 9] F IRadd ———— &F HROT gl B

Engine power variation under constant throttle application could be due to
(8) $UT 9FY F TWIT FA FA / Malfunctioning fuel pump

(b) VedTdeTuHAT H FAEAT/ Issue with ignition timing

) @W{Uﬁ' AR Tl [ Defective spark plug . &

(d) 3uderd gafr/ All of the above

mm%Wﬁ#mW@Ww%mW%

- Stoichiometric air fuel ratio by mass for diesel engine is near .
(@ 11 | ® 51
© 1:145 d  14.5:1

e & @ b Sora e S wafy ggmar §7
Which of the following increases the tendency of diesel knock?

(a) BT r 31'@&11?_3 3oq e §&ar/ Higher octane number of fuel

(b) 3R FdIET 39T / Lower compression ratio
(c) 3IIETHT 3T AU A AYH / Higher inlet air temperature

(d) U T 39ETR A& F-Ysarae a9 / Lower self-ignition temperature of fuel

T dled FT GEAT BT &

Position of choke valve is

(a) agﬁ‘ d ugel / Before venturi

(b) égfl’ & q1¢ / After venturi

(c) EeT ared & G/ After throttle valve
(d) 3I9wd § ¥ FS 7E/ None of the above
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